	3 位除 1 位（1）

1、856÷4＝
	

2、390÷5＝
	得分： 	
	

3、522÷3＝

	4、414÷6＝

7、621÷3＝

10、687÷3＝

13、260÷5＝

16、840÷3＝

19、155÷5＝

22、825÷3＝

25、135÷5＝

28、264÷8＝
	5、138÷6＝

8、549÷3＝

11、280÷5＝

14、168÷6＝

17、510÷6＝

20、240÷8＝

23、290÷5＝

26、635÷5＝

29、882÷6＝
	
	6、762÷6＝

9、148÷4＝

12、510÷6＝

15、350÷5＝

18、370÷5＝

21、408÷8＝

24、774÷3＝

27、590÷5＝

30、448÷4＝

	31、564÷6＝

34、483÷3＝

37、560÷4＝

40、368÷4＝

43、231÷3＝

46、378÷6＝

49、888÷3＝

52、400÷8＝

55、564÷3＝

58、192÷8＝
	32、696÷6＝

35、605÷5＝

38、132÷4＝

41、441÷3＝

44、784÷8＝

47、480÷4＝

50、759÷3＝

53、404÷4＝

56、555÷3＝

59、228÷6＝
	
	33、576÷6＝

36、628÷4＝

39、721÷7＝

42、721÷7＝

45、105÷3＝

48、535÷5＝

51、495÷3＝

54、296÷8＝

57、105÷7＝

60、120÷8＝




	1、512÷8＝
	2、424÷8＝
	3、224÷4＝

	4、628÷4＝
	5、252÷3＝
	6、280÷7＝

	7、392÷8＝
	8、426÷6＝
	9、890÷5＝

	10、480÷6＝
	11、130÷5＝
	12、836÷4＝

	13、552÷8＝
	14、876÷3＝
	15、406÷7＝

	16、408÷8＝
	17、808÷4＝
	18、469÷7＝

	19、294÷3＝
	20、304÷8＝
	21、696÷6＝

	22、231÷7＝
	23、515÷5＝
	24、600÷8＝

	25、340÷5＝
	26、288÷4＝
	27、648÷6＝

	28、784÷8＝
	29、480÷8＝
	30、336÷6＝

	31、348÷6＝
	32、861÷7＝
	33、560÷7＝

	34、833÷7＝
	35、525÷7＝
	36、240÷5＝

	37、670÷5＝
	38、208÷8＝
	39、544÷8＝

	40、440÷8＝
	41、352÷8＝
	42、824÷8＝

	43、250÷5＝
	44、808÷4＝
	45、639÷3＝

	46、636÷6＝
	47、330÷5＝
	48、400÷5＝

	49、400÷8＝
	50、756÷7＝
	51、345÷5＝

	52、846÷6＝
	53、768÷8＝
	54、246÷6＝

	55、720÷5＝
	56、372÷6＝
	57、768÷4＝

	58、536÷4＝
	59、745÷5＝
	60、522÷6＝
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	1、522÷3＝
	2、156÷6＝
	3、260÷4＝

	4、780÷4＝
	5、186÷6＝
	6、330÷5＝

	7、832÷8＝
	8、792÷6＝
	9、744÷3＝

	10、752÷8＝
	11、180÷3＝
	12、700÷7＝

	13、252÷7＝
	14、721÷7＝
	15、616÷4＝

	16、695÷5＝
	17、615÷5＝
	18、680÷5＝

	19、544÷8＝
	20、756÷4＝
	21、819÷7＝

	22、224÷8＝
	23、435÷3＝
	24、222÷3＝

	25、510÷6＝
	26、135÷5＝
	27、792÷6＝

	28、596÷4＝
	29、385÷7＝
	30、336÷7＝

	31、219÷3＝
	32、336÷6＝
	33、210÷7＝

	34、324÷4＝
	35、549÷3＝
	36、875÷7＝

	37、815÷5＝
	38、351÷3＝
	39、889÷7＝

	40、600÷6＝
	41、486÷6＝
	42、250÷5＝

	43、434÷7＝
	44、854÷7＝
	45、192÷6＝

	46、584÷4＝
	47、392÷8＝
	48、752÷8＝

	49、732÷4＝
	50、707÷7＝
	51、474÷6＝

	52、777÷7＝
	53、792÷4＝
	54、726÷6＝

	55、840÷7＝
	56、765÷5＝
	57、511÷7＝

	58、318÷6＝
	59、111÷3＝
	60、308÷4＝




	1、590÷5＝
	2、318÷3＝
	3、287÷7＝

	4、385÷5＝
	5、474÷6＝
	6、290÷5＝

	7、672÷7＝
	8、858÷6＝
	9、763÷7＝

	10、840÷6＝
	11、342÷6＝
	12、318÷3＝

	13、632÷8＝
	14、305÷5＝
	15、176÷4＝

	16、198÷3＝
	17、348÷6＝
	18、152÷4＝

	19、690÷6＝
	20、510÷5＝
	21、812÷7＝

	22、624÷3＝
	23、102÷3＝
	24、240÷8＝

	25、816÷8＝
	26、336÷4＝
	27、255÷5＝

	28、120÷5＝
	29、597÷3＝
	30、648÷4＝

	31、676÷4＝
	32、645÷3＝
	33、655÷5＝

	34、498÷6＝
	35、553÷7＝
	36、882÷6＝

	37、556÷4＝
	38、780÷5＝
	39、732÷4＝

	40、468÷3＝
	41、135÷5＝
	42、744÷8＝

	43、123÷3＝
	44、772÷4＝
	45、672÷3＝

	46、816÷8＝
	47、894÷3＝
	48、560÷5＝

	49、528÷6＝
	50、588÷7＝
	51、884÷4＝

	52、332÷4＝
	53、324÷6＝
	54、784÷8＝

	55、395÷5＝
	56、372÷3＝
	57、132÷4＝

	58、520÷5＝
	59、180÷4＝
	60、312÷6＝




	1、378÷7＝
	2 、516÷6＝
	3、164÷4＝

	4、816÷8＝
	5、628÷4＝
	6、824÷4＝

	7、390÷6＝
	8、536÷8＝
	9、135÷5＝

	10、198÷6＝
	11、696÷8＝
	12、808÷8＝

	13、660÷5＝
	14、255÷5＝
	15、357÷7＝

	16、584÷8＝
	17、654÷6＝
	18、556÷4＝

	19、272÷4＝
	20、152÷4＝
	21、435÷5＝

	22、635÷5＝
	23、238÷7＝
	24、768÷3＝

	25、144÷6＝
	26、392÷7＝
	27、888÷8＝

	28、270÷6＝
	29、224÷7＝
	30、484÷4＝

	31、159÷3＝
	32、640÷8＝
	33、160÷8＝

	34、324÷3＝
	35、792÷6＝
	36、440÷5＝

	37、508÷4＝
	38、888÷8＝
	39、450÷6＝

	40、768÷4＝
	41、875÷7＝
	42、336÷6＝

	43、816÷4＝
	44、102÷6＝
	45、360÷8＝

	46、768÷3＝
	47、845÷5＝
	48、288÷8＝

	49、297÷3＝
	50、651÷7＝
	51、372÷3＝

	52、520÷5＝
	53、675÷3＝
	54、816÷4＝

	55、464÷8＝
	56、160÷5＝
	57、575÷5＝

	58、852÷6＝
	59、690÷6＝
	60、735÷3＝




	1、762÷6＝
	2、294÷7＝
	3、392÷8＝

	4、176÷8＝
	5、354÷6＝
	6、396÷6＝

	7、390÷3＝
	8、745÷5＝
	9、678÷6＝

	10、183÷3＝
	11、372÷6＝
	12、252÷7＝

	13、264÷8＝
	14、696÷4＝
	15、144÷8＝

	16、864÷8＝
	17、287÷7＝
	18、545÷5＝

	19、763÷7＝
	20、138÷6＝
	21、183÷3＝

	22、296÷8＝
	23、156÷6＝
	24、160÷4＝

	25、455÷5＝
	26、495÷5＝
	27、696÷8＝

	28、786÷3＝
	29、672÷7＝
	30、417÷3＝

	31、840÷7＝
	32、854÷7＝
	33、663÷3＝

	34、126÷3＝
	35、294÷6＝
	36、161÷7＝

	37、120÷6＝
	38、840÷3＝
	39、435÷3＝

	40、632÷4＝
	41、595÷5＝
	42、540÷6＝

	43、695÷5＝
	44、396÷3＝
	45、305÷5＝

	46、783÷3＝
	47、565÷5＝
	48、522÷6＝

	49、126÷7＝
	50、654÷6＝
	51、808÷8＝

	52、656÷4＝
	53、795÷5＝
	54、441÷7＝

	55、660÷4＝
	56、196÷7＝
	57、132÷4＝

	58、370÷5＝
	59、588÷4＝
	60、294÷6＝




	1、236÷4＝
	2、500÷5＝
	3、295÷5＝

	4、856÷4＝
	5、248÷4＝
	6、584÷8＝

	7、110÷5＝
	8、385÷5＝
	9、318÷6＝

	10、700÷4＝
	11、658÷7＝
	12、756÷3＝

	13、125÷5＝
	14、136÷8＝
	15、280÷8＝

	16、600÷8＝
	17、756÷7＝
	18、132÷6＝

	19、570÷5＝
	20、690÷5＝
	21、408÷8＝

	22、292÷4＝
	23、390÷5＝
	24、365÷5＝

	25、320÷8＝
	26、584÷8＝
	27、260÷5＝

	28、315÷5＝
	29、392÷7＝
	30、160÷5＝

	31、368÷4＝
	32、612÷4＝
	33、384÷6＝

	34、880÷4＝
	35、155÷5＝
	36、280÷5＝

	37、343÷7＝
	38、624÷6＝
	39、336÷4＝

	40、104÷8＝
	41、140÷5＝
	42、804÷6＝

	43、879÷3＝
	44、636÷4＝
	45、735÷5＝

	46、416÷8＝
	47、624÷3＝
	48、188÷4＝

	49、545÷5＝
	50、384÷4＝
	51、865÷5＝

	52、834÷6＝
	53、651÷3＝
	54、812÷7＝

	55、168÷8＝
	56、822÷3＝
	57、390÷6＝

	58、595÷7＝
	59、342÷6＝
	60、540÷6＝




	1、720÷4＝
	2、402÷3＝
	3、750÷5＝

	4、284÷4＝
	5、888÷8＝
	6、520÷5＝

	7、840÷8＝
	8、535÷5＝
	9、704÷8＝

	10、870÷5＝
	11、276÷6＝
	12、208÷8＝

	13、170÷5＝
	14、574÷7＝
	15、715÷5＝

	16、756÷7＝
	17、315÷5＝
	18、312÷8＝

	19、291÷3＝
	20、595÷5＝
	21、465÷5＝

	22、336÷3＝
	23、408÷4＝
	24、295÷5＝

	25、200÷8＝
	26、840÷4＝
	27、516÷6＝

	28、591÷3＝
	29、560÷4＝
	30、792÷8＝

	31、147÷7＝
	32、384÷6＝
	33、450÷5＝

	34、744÷8＝
	35、872÷8＝
	36、352÷8＝

	37、236÷4＝
	38、772÷4＝
	39、370÷5＝

	40、104÷8＝
	41、539÷7＝
	42、141÷3＝

	43、715÷5＝
	44、228÷6＝
	45、268÷4＝

	46、856÷8＝
	47、888÷8＝
	48、280÷8＝

	49、161÷7＝
	50、119÷7＝
	51、348÷3＝

	52、770÷7＝
	53、824÷8＝
	54、258÷6＝

	55、165÷5＝
	56、385÷5＝
	57、772÷4＝

	58、390÷6＝
	59、304÷8＝
	60、348÷6＝




	1、568÷8＝
	2、624÷3＝
	3、160÷5＝

	4、318÷6＝
	5、711÷3＝
	6、637÷7＝

	7、112÷8＝
	8、625÷5＝
	9、600÷4＝

	10、216÷4＝
	11、511÷7＝
	12、847÷7＝

	13、564÷6＝
	14、702÷3＝
	15、784÷4＝

	16、480÷4＝
	17、800÷5＝
	18、624÷6＝

	19、392÷4＝
	20、365÷5＝
	21、160÷4＝

	22、867÷3＝
	23、870÷5＝
	24、712÷8＝

	25、552÷6＝
	26、270÷6＝
	27、615÷3＝

	28、702÷6＝
	29、162÷3＝
	30、835÷5＝

	31、888÷6＝
	32、483÷7＝
	33、231÷7＝

	34、138÷6＝
	35、620÷5＝
	36、745÷5＝

	37、655÷5＝
	38、511÷7＝
	39、780÷4＝

	40、744÷8＝
	41、410÷5＝
	42、645÷5＝

	43、816÷6＝
	44、320÷4＝
	45、315÷7＝

	46、792÷8＝
	47、656÷8＝
	48、248÷8＝

	49、268÷4＝
	50、788÷4＝
	51、265÷5＝

	52、287÷7＝
	53、416÷8＝
	54、400÷5＝

	55、865÷5＝
	56、348÷6＝
	57、786÷3＝

	58、564÷6＝
	59、560÷8＝
	60、104÷8＝




	1、692÷4＝
	2、672÷4＝
	3、520÷8＝

	4、720÷3＝
	5、764÷4＝
	6、215÷5＝

	7、176÷8＝
	8、498÷3＝
	9、259÷7＝

	10、412÷4＝
	11、570÷6＝
	12、456÷8＝

	13、645÷3＝
	14、854÷7＝
	15、472÷8＝

	16、528÷8＝
	17、455÷7＝
	18、322÷7＝

	19、680÷8＝
	20、804÷4＝
	21、472÷8＝

	22、312÷3＝
	23、468÷6＝
	24、324÷6＝

	25、161÷7＝
	26、704÷8＝
	27、378÷7＝

	28、705÷3＝
	29、427÷7＝
	30、162÷6＝

	31、192÷3＝
	32、126÷3＝
	33、852÷4＝

	34、476÷4＝
	35、184÷4＝
	36、124÷4＝

	37、875÷7＝
	38、620÷4＝
	39、660÷6＝

	40、392÷7＝
	41、208÷4＝
	42、324÷4＝

	43、819÷7＝
	44、795÷3＝
	45、805÷5＝

	46、480÷6＝
	47、714÷7＝
	48、168÷6＝

	49、108÷4＝
	50、357÷3＝
	51、833÷7＝

	52、693÷3＝
	53、196÷4＝
	54、364÷7＝

	55、174÷3＝
	56、318÷6＝
	57、228÷4＝

	58、872÷8＝
	59、550÷5＝
	60、360÷8＝


